[image: image1.jpg]T335 VHF FM Receiver

TAIT ELECTRONICS LTD

Address 558 Wairakei Road,
Christchurch,”
New Zealand.

Postal Address PO Box 1645,
Christchurch,
New Zealand.

Telegrams & Cables:  'Taitronics'

Telex: NZ 4926
Telephone: 358 3399
Fax: (64) (3) 358 3603, 358 3636 or 358 9299

T335 Receiver

VHF FM 66-88MHz

(M335-00)

Issue E {|{10 LI

TECHNICAL INFORMATION

For further information about this manual or the equipment it describes, contact
Product Distribution Group, Tait Electronics Ltd, at the above address.

UPDATING EQUIPMENT & SERVICE MANUALS

In the interests of improving performance, reliability or servicing, Tait
Electronics Ltd reserve the right to update their equipment and/or Service
Manuals without prior notice.

SCOPE OF MANUAL

This manual covers general, technical and servicing information on the T335 VHF
FM Receiver.

[F1] Page |






[image: image2.jpg]T335 VHF FM Receiver

Ordering Service Manuals

When ordering the T335 Service Manual quote the Tait Internal Part Number (IPN)
and the version required. 3

Date Of Issue

IPN M335-00 T335 Service Manual
Issue C published December 1985
Issue D published October 1986
Issue E published November 1990

Manual Revisions

This Tait Service Manual may incorporate textural revisions and, where necessary,
updated Parts Lists and Diagrams.

Those portions of the text that have been changed from the previous issue Manual
are indicated by a vertical line in the outer margin of the page.

Page 2






[image: image3.jpg]T335 VHF FM Receiver

CONTENTS
Page
SECTION 1 GENERAL INFORMATION

1.1 Introduction 1.1

1.2 Specifications 1.2

2 1.2.1 Introduction 1.2
1.2.2 General 1.2

1.2.3 RF & IF Sections 1.2

1.2.4  Audio Outputs 13

1.2.5 Frequency Stability 1.3

1.3 Versions 1.4

SECTION 2 CIRCUIT OPERATION

2.1 RF & IF Sections 2.1
2.2 9 Volt Regulator 2.2
2.3 Noise Gate 2.2
2.4 Audio Processor 2.2

SECTION 3 ANCILLARY EQUIPMENT (Not used in this manual).

SECTION 4 INSTALLATION

4.1 General 4.1
4.2 Talk Through Repeater 4.1
4.3 Line Controlled Base Station 4.2
4.4  4-Wire To 2-Wire Convertor (Hybrid) 4.2
4.5 Audio Processor Flat Response 4.3

SECTION 5 SERVICING

5.1 General 5.1
5.1.1 Notes 5.1
5.1.2 Technical Instructions 5.1
5.2 Mechanical el
5.2.1 Posidriv Recess Head Screws 1
5.3 Repair 5.2
5.3.1 Component Checks 5.2
5.3.2 Component Replacement 5.2
5.3.3 Inter-Board Wiring s
Page 3






[image: image4.jpg]T335 VHF FM Receiver

5.4 Setting Up 53
5.4.1 Test Equipment Required 5.3
5.4.2  Tuning Hints 243
5.4.3 Coil Tap Connectidns 23
5.4.3.1 General 93
5.4.3.2 Oscillator Trim Coil Type 617 33
5.4.3.3 RF Coils Type 618 5.4

5.5 Receiver Adjustments 5.4
] 5.5.1 General 5.4 l
; 5.5.2 Local Oscillator Alignment 5.4
5.5.3 Local Oscillator Frequency Adjustment 55
5.5.3.1 Versions Without Front Panel Monitor & Osciliator Trim 5.5 l
5.5.3.2 Versions With Crystal Oven 3.5
5.5.3.3 Versions With Front Panel Monitor & Oscillator Trim 3.5
5.5.4 RF Alignment 5.5 I
5.5.5 IF Alignment 5.6
5.5.6 Carrier Level Detector Adjustment 5.6
5.5.7 Noise Gate Adjustment o3¢ I
5.6 Fault Finding 5.8
5.6.1 General 5.8
5.6.2 Voltage Table 5.8 I
5.6.3 Gate Operation 5.8
5.6.4  Carrier Level Detector Operation 3.9
5.6.5 Line Amplifier Output Level 5.10 I
5.6.6 Monitor Amplifier Output Level 5.10
5.6.7  Signal+Noise To Noise Ratio 5.10
SECTION 6 PARTS LIST
Refer to page 6.2 for index. I
ILLUSTRATIONS I
Figure 1. Talk Through Repeater 4.1
Figure 2. Line Controlled Base Station 4.2
Figure 3. 4-Wire To 2-Wire Convertor (Hybrid) 4.3 I
Figure 4. Coil Type 617 5.4
Figure 5. Coil Type 618 5.4
Figure 6. Typical Signal Strength Output 5.10 l
DIAGRAMS I
1. Test Equipment Set-up
2. T335 PCB Encoding
3. TO011-20 Audio Processor PCB Layout I
4. T335 Block Diagram A2M1201
5. T335 Wiring Diagram A2C694
6. T005-32 Noise Gate Circuit Diagram C667 I
7. T010-30 Crystal Oven Circuit Diagram A4C603
8. TO011-20 Audio Processor Circuit Diagram Cé661 (Fold-out)
9. T335 Circuit Diagram A1C309 (Fold-out) l
Page 4 I






[image: image5.jpg]T335 General Information

SECTION 1 GENERAL INFORMATION

1.1 INTRODUCTION =

The T335 is a high performance FM Base Station Receiver designed for single
channel operation in the 66 to 88MHz frequency range.

The receiver is a dual conversion superhet in which a balanced mixer provides the
first IF of 10.7MHz. The IF amplifier contains 10.7MHz crystal filters which
determine the band-pass characteristics. The second mixer along with the second
IF section (455kHz), an amplitude limiter and FM detector are contained in a
single integrated circuit.

The IF section also drives carrier and noise level detectors for signal strength
indication and gating of audio outputs.

A T005-32 noise gate (previously designated the TA-053/2) is fitted as standard to
all T335 receivers. With the T005-32 fitted, the mute operates on signals of a
preset sinad level rather than for signals seriously degraded by noise.

The audio section delivers up to +10dBm to a 600 ohm balanced output and 1 watt
to a local monitor speaker. Provision is also made to monitor the 600 ohm
balanced output.

Front panel controls include 'gate sensitivity', 'line level', 'monitor volume' and
'mute disable' switch. This switch disables the mute (squelch) signal to the
monitor amplifier as an aid to servicing.

Provision is made for a crystal oven to be incorporated within the set. This gives
a crystal frequency stability of +1.0ppm within the temperature range 0°C to
+60°C and +1.5ppm from -30°C to +60°C.

All components except those of the noise gate are mounted on two printed circuit
boards which are secured in a metal frame. The frame fits into a robust metal
sleeve which gives mechanical and environmental protection.

The T335 may be housed together with up to six similar modules in a Tait rack

shelf which in turn may be mounted in a standard 484mm (19 inch) rack frame or a
lockable cabinet to provide an attractive and convenient installation.

Page 1.1





[image: image6.jpg]T335 General Information

1.2 SPECIFICATIONS

1.2.1 INTRODUCTION

Where applicable, the test methods used to obtain the following performance
figures are those described in the New Zealand Post Office Specification RTA25.

The performance figures given are typical figures unless otherwise indicated.

Details of test methods and the conditions which apply for Type Approvals can be

obtained from Tait Electronics Ltd.

1.2.2 GENERAL
Frequency Range
Type

System Channel Separation:

Narrow Band
Wide Band

Number of Channels

Supply Voltage:
Operating Range
Standard Test Voltage

Supply Current:

Gate Off, Monitor On
Gate On, Monitor On, full audio

Input Impedance
Operating Temperature Range

Dimensions:

Height
Length
Width

Weight (nominal):

In Sleeve
In Sleeve & Guide

1.2.3 RF & IF SECTIONS

12dB Sinad Sensitivity

IF Amplifiers:
Frequencies
Bandwidth:

Narrow Band
Wide Band

Page 1.2

. 66 to 88MHz

dual conversion superheterodyne

12.5kHz

. 20kHz, 25kHz or 30kHz

.

one

10.8 to 16 volts DC
13.8 volts DC

. 1830mA

. 500mA

. 50 ohms (nominal)

. -10°C to +60°C

. 191mm
« 300mm
. 60mm

1.2kg
1.6kg

-117dBm

. 10.7MHz and 455kHz

7.5kHz
15kHz






[image: image7.jpg]Crystal Oven Fitted:
Crystal Type
Frequency Stability:

0°C to +60°C
-30°C to 0°C

1.3 VERSIONS

T335 General Information

S TEf25

. +lppm
.. +l.5ppm

Description

Version

02

05

52

66-88MHz

+

7.5kHz IF Bandwidth

15kHz IF Bandwidth

Crystal Oven

Page 1.4






[image: image8.jpg]T335 Circuit Operation

SECTION 2 CIRCUIT OPERATION

Refer to the Block and Circuit Diagrafns at the rear of this Manual.

2.1 RF & IF SECTIONS

The signal enters the receiver via the N-type female connector mounted on the
rear chassis panel, and feeds down a 50 ohm miniature coaxial cable to the
receiver PCB.

It passes through a two-section, inductively-coupled, band-pass filter to the base
of the common-emitter RF amplifier (Q103), mounted on the underside of the
board. From the collector, the signal is further filtered by a four section
inductively coupled, band-pass filter before being presented to the emitters of the
balanced mixer transistors (Q104 & Q105).

Transistors Q110 & Q111 form a Colpitts type, crystal controlled RF source and a
common-emitter doubler stage, followed by a resonant circuit tuned to two times
the crystal frequency. A vari-cap diode (D109) may be fitted to allow external
fine frequency trimming of the crystal oscillator. A buffer stage (Q112) amplifies
the signal to the required level in its output tuned circuit. The signal is applied in
anti-phase via a further tuned circuit to the bases of the balanced mixer
transistors (Q104, Q105). Q104 & Q105 base voltages are held at about 0.6V by
R112 & D106. The DC drive current drawn by the balanced mixer under normal
drive conditions is about 75mA.

An optional oscillator monitor output is provided by the divider network (R159,
R160) at a level of approximately 0OdBm into 50 ohms suitable for driving a
counter.

The IF signal appears in anti-phase at the collectors of the mixer transistors and
is combined in the tuned circuit before being presented to the first IF crystal
filter (XF101) which provides the required high selectivity. The filter passes only
the 10.7MHz component of the mixer output to the input of the first IF amplifier
(Q106, Q107).

A rectified sample is taken from the output of this amplifier and, after
amplification and smoothing (by ICla), is applied to PIN diodes (D105, D105A)
connected across the second section of the input filter. When sufficient signal is
present to achieve the ultimate signal to noise ratio, the diodes begin to attenuate
the input signal which significantly improves the high-level intermodulation
rejection.

A second IF filter is placed between the first and second IF amplifiers to band-
limit the noise and spurious signals from the first IF amplifier into the second.
The signal is fed from the output of the second IF amplifier to the demodulator
and carrier level detector sections.

The carrier level detector consists of: a buffer amplifier (Q113), a 10.7MHz
rectifier (D110, D111) and a DC amplifier (IC1b). One part of the output from
IC1b is smoothed and applied to a comparator (IC1d) as a voltage proportional to
the energy in the 10.7MHz pass-band. Noise rectifier IClc is not required when
using the T005-32 noise gate, and is disabled by removing coupling capacitor
173,

The demodulator section comprises an integrated circuit (IC2) which contains an
oscillator, mixer, amplifier, amplitude limiter and quadrature detector. Crystal
X2 sets the second oscillator frequency of 10.245MHz which, when mixed with the
first IF injected at pin 16, produces the second IF frequency of 455kHz at pin 3.

Page 2.1






[image: image9.jpg]T335 Circuit Operation

This IF is filtered to remove unwanted mixer products and broad band noise before
being reinserted at pin 5. It is then amplified, limited and detected within the
integrated circuit (L124 provides the quadrature signal for the detector), and
audio from pin 9 is taken to the audio-processor PCB.

2.2 9 VOLT REGULATOR

The 9 volt regulator is included on the IF-RF board and consists of a two
transistor circuit (Q101, Q102), using a zener diode (D102) as a reference source.
D104 compensates for Q101 base-emitter voltage, thus maintaining the output at
the zener voltage (+9.1V). D103 and R103 sense a short circuit condition and
reduce the reference voltage, hence limiting the dissipation in Q102, making the
regulator short circuit proof.

D101 prevents any current flow if power is accidentally applied with the wrong
polarity.

2.3 NOISE GATE

A carrier level detector (Q113, D110, D111 & IC1b) on the receiver PCB provides
a voltage dependent on the carrier level which is used to influence the fixed
reference voltage applied to Schmitt trigger (IC1) on the audio PCB via the gate
sensitivity control on the front panel and R16A and R42 on the audio processor
PCB.

The receiver AF output is applied to the T005-32 where the high frequency noise
component is filtered off (Ql, Cl, C3, R1 & R#4), amplified (Q2), rectified and
smoothed (D1, C8). This voltage is dependent on receiver noise output and is also
applied to the Schmitt trigger on the audio PCB.

Gate hysteresis is determined by R14. The Schmitt output is fed to a buffer
inverter (Q1) on the audio PCB.

Q3, R11 and R12 on the T005-32 PCB, being a series mute controlled by the

Schmitt trigger via the cathode of D6, mute the talk-through signals when
required.

2.4 AUDIO PROCESSOR

The output of the Schmitt trigger gating device (IC1) is fed to a buffer inverter
(Q1) whose collector current flows through the 'gate' LED on the front panel to
the bases of Q2 and Q5.

QIA provides a receiver 'disable' function by clamping the base of Ql to its
emitter. An 'enable' delay may be provided by RVla, R1b, R2b and Clb when the
receiver is to be used in a semi-duplex, two frequency linking system to prevent
interaction.

When the base of Q2 is driven, its collector clamps the bases of both gating
transistors (Q3 and Q&) to their emitters, thus allowing audio to pass to the line
and monitor outputs. Q4 maybe held in the unmuted condition by closing the front
panel '"Monitor Mute' toggle switch (SW1) as a servicing aid.

Applying drive to the base of Q5 also causes its collector to clamp to the 0V line,
providing an open-collector output which may be used to key a transmitter. If a
relay is fitted, the pull-in coil is also driven by Q5 (Q5 may be a medium or high
power device depending upon its application).






[image: image10.jpg]T335 Circuit Operation

The audio signal is applied to two op. amps in IC1 which, depending upon the
associated components, provide either a CTCSS-compensated function or a totally
'flat' function, both having unity gain at 1kHz. A bridged T network (C7, C8, C9,
R13 & R15) connected in a feedback toop gives a broad resonance at about 280Hz.
When combined with the de-emphasis network (R19, C10), the circuit complies
with the requirements for a flat response at CTCSS frequencies, but retains the
de-emphasized response at audio frequencies.

When a totally flat response is required (e.g. in linking systems), the de-emphasis
components are effectively eliminated by the changes set out in Section 4.5.

The signal is presented to a low pass filter (R21, C12 to C15, L1 & R22) which
limits the upper audio response, then passes to the individual line and monitor
level controls (RV39 & RV40). The signal is taken from the sliders of the
potentiometers past the muting transistors (Q3 & Q#) to IC2 which contains two
power amplifier sections. One section provides an output to drive a speaker, the
other provides the line output via transformer T1. The output impedance is set at
600 ohms by two feedback loops around the line amplifier - one proportional to
the output current, the other proportional to the output voltage.

A monitor output is also available from the 'hot' end of the line transformer
primary, via R41, which may be taken to a monitor module.

Page 2.3





[image: image11.jpg]T335 Installation

SECTION 4 INSTALLATION

4.1 'GENERAL i
Tait Fixed Equipment transmitters and receivers may be assembled into a wide

variety of fixed equipment systems, from a simple 'land mobile base' to a complex
'linking system' operating in the 'hot standby mode'.

¢ 4.2 TALK THROUGH REPEATER

In this configuration the receiver directly keys the transmitter when the signal is
received. The demodulated audio is fed via 600 ohm lines to the transmitter to
modulate the carrier. The receiver and transmitter operate simultaneously and
must therefore be on different frequencies. The minimum frequency separation
depends on the duplexer used.

Aerial
Reczive ForJr Transmit Por+
Duplexer
RE Sl:o B RE DE‘L
N ‘N’ S
Tspical libe. lavel iy
Line oot R Line in
RECEIVER TRANSMINER
Tx Key out T key in
Monifor Mic.. in
Dut
MONITMOR LocAL
Loud SPEAKER MicROPHONE
+1%.8v.
_ SuppLY

=

TALK —~THRoOUGH REPEATER

Figure 1 Talk Through Repeater






[image: image12.jpg]T335 Installation

4.3 LINE CONTROLLED BASE STATION (WITHOUT TALK THROUGH)

This installation contains a transmitter and receiver which may or may not be on
the same frequency, thus simultaneois transmission and reception is not possible.
In this case the transmitter is keyed from the Remote Control Unit (RCU). When
the transmitter is keyed, the coaxial relay is also energised. When the relay is in
its rest position, signals from the aerial are passed to the receiver and the
demodulated output is fed via 600 ohm lines to the RCU.

Aerial

Recawe Por+ Transmit P°"+
Co AxiaL
RelAy Solenoid

RE ln RE Ot
'N' Sockat , PSR | O N Keyed 'N' Socket
Idfm—cf'f)z:lEm'\ SUPP,H

Recroer  j—dBM =20dBM_ IR ANGMINER

Line oot Line in

| S —
Awe line Yo ramolz

tonteol unit or via
hgb(ld Jro ‘Zw;(v.

[ﬂ line. a

MoniTor LocAL
LoudsPeAKER MicROPHONE

+415-Bv.
_ SopplY

—

Line. ContRolled BASe StAtion

Figure 2 Line Controlled Base Station

4.4 4-WIRE TO 2-WIRE CONVERTER (HYBRID)

One way in which a base station may be line controlled by a two-wire line is by
providing a 4-wire to 2-wire converter (hybrid). The line transformers may be
interconnected to form such a hybrid by the following method.

1.  Interconnect the windings of the line transformers as shown in Figure 3.
Note: Although the turns ratios of the transformers are not optimum for correct

impedance match, the configuration performs adequately for most
applications.

Page 4.2






[image: image13.jpg]T335 Installation

RV1 (which controls the hybrid balance) may be adjusted for maximum
isolation or for a specific talk through level as required. When maximum
isolation is required, the slope of the average audio response between the
two 4-wire ports may be improved by slight adjustment of RV and
sacrificing 1 or 2dB of total isolation between the 4-wire ports. This
adjustment can be carried out audibly by listening to the retransmitted
white noise output of an open receiver with no signal input and observing the
relative response slope while making the adjustment.

The hybrid balance may be improved by fitting a capacitor (C1) in series
with RV1. This will depend on the line characteristics and whether a
capacitor is fitted in the line path. Some experimentation may be necessary
to find the value of C1 (usually 1 or 2pF).

BTN T e TRANSMITIER

Plakone =t X | 3
Hybrd Balance ~<H

% o i

‘ | |
;
2 wire Line

Figure 3 4-Wire to 2-Wire Converter

Note 1: It is important that the two windings of each transformer are phased as

shown.

Note 2: C2 may be fitted to allow DC signalling on the line.

4.5 AUDIO PROCESSOR FLAT RESPONSE

Refer to Circuit Diagram C661 in the rear of the manual. s

The audio processor links are set to give a CTCSS de-emphasis response. If a flat
response is required (e.g. in linking systems), the following circuit changes should
be carried out:

(a)
(b)

(c)

Reconnect or fit JP4, a shorting link across C8.

Remove JP6, which connects the junction of Cl1, R20 and the junction of
C10, R19, pin 8 IC1.

Fit a length of insulated wire on the component side of the board between
the pads marked A (connected to pin 14, IC1) and B (junction of C11, R20).

Note: No components are removed, so the de-emphasis can be restored by

removing JP4 and the wire link between A and B, and refitting JP6.

Page 4.3






[image: image14.jpg]1335 Servicing

SECTION 5 SERVICING

5.1 GENERAL x
5.1.1 NOTES

If further information is required about the T335 or this Manual, it may be
obtained from Tait Electronics Ltd or accredited agents. When requesting this
information, please quote either the equipment serial number or works order
number (found on a label at the back of the set). In the case of Circuit Diagrams
quote the Title and Issue, and for the Service Manual quote the internal part
number (IPN) and Issue, e.g. M335-00, Issue E.

CAUTION: CMOS DEVICES

This equipment contains CMOS Devices which are susceptible to damage from
static charges. Care when handling these devices is essential. For correct
handling procedures refer to manufacturers' data books covering CMOS devices,
e.g. Philips Data Handbook Covering CMOS Devices; Motorola CMOS Data Book
Section 5 (Handling Procedures), etc.

5.1.2 TECHNICAL INSTRUCTIONS (TT's)

From time to time TI's are issued by Tait Electronics Engineering Division. These
TI's may be used to update equipment or information, or to meet specific
operational requirements.

5.2 MECHANICAL

5.2.1 POZIDRIV RECESS HEAD SCREWS

Pozidriv recess head screws are the preferred standard on all Tait manufactured
equipment. The very real advantages of this type of screw will not be realised
unless the correct screwdrivers are used by servicing personal.

5.3 REPAIR

5.3.1 COMPONENT CHECKS

If a transistor is suspected of faulty operation, an indication of its performance
can be assessed by measuring the forward and reverse resistance of the junctions.
First make sure that the transistor is not shunted by some circuit resistance
(unless the device is completely unsoldered). A 20k ohm/V or better multimeter
should be used for taking the measurements, using only the medium or low
resistance ranges.

The collector current drawn by multi-junction transistors is a further guide to
their performance.

If an IC is suspect, the most reliable check is to measure the DC operating
voltages. Due to the catastrophic nature of most IC failures, the pin voltages will
usually be markedly different from the recommended values in the presence of a
fault. The recommended values can be obtained from either the Circuit Diagram
or the component data catalogue.

Page 5.1






[image: image15.jpg]T335 Servicing

5.3.2 COMPONENT REPLACEMENT

Whenever components are removed from, or fitted to the printed circuit track,
care must be taken to avoid damage to the track. If it is necessary to remove a
component from the track, the following procedure is recommended:

Remove the solder from the component leads using solder wick or a solder
sucker.

Loosen the individual leads from the printed track.

Withdraw the component from the top of the PCB.

Do not remove the component from the PCB while the solder is still molten.
Keep all soldering operations, and the heat and solder applied, to a minimum. A

thermally controlled, fine tip soldering iron should be used. Ensure that the iron
is earthed back to the frame of the set.

5.3.3 INTER-BOARD WIRING

To assist circuit tracing all plugs and connections are shown on the outer edge of
the Circuit Diagrams.

Page 5.2






[image: image16.jpg]T335 Servicing

5.4 SETTING UP

5.4.1 TEST EQUIPMENT REQUIRED
Oscilloscope good quality, 0-10MHz (e.g. Trio 1566A, Telequipment D61A)

2. VHF FM generator capable of providing 66-88MHz at 0dBm to -120dBm
frequency modulated to +35kHz deviation at 1kHz. (e.g. HP8654 )

3. VHF frequency counter (accuracy better than 1ppm)

4. Sinad meter (e.g. Helper Instruments Sinadder)
5.  Audio oscillator (e.g. Trio AG 203)

6.  Multimeter or DMM (e.g. AVO model 8 or Fluke 8012A)
7.  AC millivoltmeter (e.g. Trio VT106)

8.  DC millivoltmeter (e.g. Trio VT120, Tech.Inst. TE65)
9.  RF diode probe (e.g. Coline M12DM)

10. External speaker 3.5 ohm voice coil

11. DC power supply capable of delivering 1 amp at 13.8V

12. 'N' to 'BNC' adaptors (2)

5.4.2  TUNING HINTS

(5 When using an RF probe, the ground return lead should be kept as short as
possible and connected as close as possible to the point at which the
measurement is being made. This is to minimize stray pick-up which may
affect readings.

2. When tuning coils on the receiver PCB, all adjustments must be made from

the top (component side) of the PCB. A non-metallic tuning tool should be
used.

5.4.3 COIL TAP CONNECTIONS

5.4.3.1 General

The T335 uses RF coils with taps which permit the set to operate over a wide
frequency range. Connections to these taps may have to be altered if the tuning
is changed.

5.4.3.2 Oscillator Trim Coil Type 617

A type 617 coil is used in the crystal oscillator circuit and during manufacture
pins 1 and 4 are brought into circuit. This covers the frequency range 70 to
80MHz. If it is desired to operate the T335 in the 66 to 70 MHz frequency range,
it will be necessary to bring more of the coil into circuit by cutting the copper
track to pin 4 and connecting pin 3 in its place (refer to Figure 4).

Page 5.3






[image: image17.jpg]T335 Servicing

5.4.3.3 RF Coils Type 618

Three type 618 coils are used in the oscillator chain and during manufacture the
winding taps are connected in circuit; thus permitting operation in the 79-88MHz
frequency range. If operation in the 66-79MHz range is required, the connection
to the tap should be cut and the whole coil brought into circuit (refer to Figure 5).

[

Q.LU\AI(% “ TR

210 <

X
oL e

-

Pin Connections FuLL Coll”
Bottom View

Figure 4 Coil Type 617 Figure 5 Coil Type 618

Set the front panel gating sensitivity control fully clockwise (this should
Set the line level control and monitor level control to levels suitable for
Ensure that the correct crystal is fitted: fx = 1/2(fr - 10.7MHz)

In this and following Sections deviation settings are given first for wide band
sets, followed by settings in brackets for narrow band sets [ 1.

5.5 RECEIVER ADJUSTMENTS

5.5.1 GENERAL
Set up the test equipment as in Diagram 1.
open the gate).
driving the Sinadder, speaker, etc.

5.5.2 LOCAL OSCILLATOR ALIGNMENT

Set the slug of L125 to its mid-position (i.e. the slug is half-way out of the
coil).

Connect an EVM with diode probe to TP1 (Q110 emitter). The meter should
read about 0.5 volts.

Connect the probe to TP2.
Adjust L128 for a maximum reading (about 0.5V).

Connect a DC voltmeter (1V range) between TP3 (Q104, Q105 emitters) and
earth.

Adjust L130 & L117 for a peak reading.

Readjust L128 for a peak reading. The reading on the DC voltmeter should
now be at least 0.2 volts.

Page 5.4






[image: image18.jpg]T335 Servicing

5.5.3 'LOCAL OSCILLATOR FREQUENCY ADJUSTMENT

5.5.3.1  Versions Without Front Panel Monitor & Oscillator Trim Facilities

Connect a frequency counter to the oscillator injection monitor output on
the RF PCB (across R160).

Adjust L125 for the exact oscillator injection frequency (fr -10.7MHz).

5.5.3.2 Versions Fitted With Crystal Oven

Adjust L125 as in 5.5.3.1

Refer to TI-308A for fitting and servicing details.

5.5.3.3 Versions Fitted With Front Panel Monitor & Oscillator Trim Facilities

Connect a DC voltmeter between the slider of the frequency trim
potentiometer and earth.

Adjust the potentiometer until the meter reads 2.5 volts (this places the
varicap in the centre of its range).

Connect a frequency counter to the front panel "frequency out" BNC socket.
Adjust L125 to obtain the frequency required (fx = 1/2 injection frequency).

The front panel potentiometer will give fine frequency adjustment.

5.5.4 RF ALIGNMENT

Note: The following assumes that the IF alignment is correct and should not be

touched unless there is clear evidence of malfunction (see Section 5.5.5 for
IF alignment procedure).

Set the gating sensitivity control fully clockwise.

Set the RF signal generator to give an accurate 'on channel' signal
modulated to 1+3kHz [+1.5kHz] deviation at 1kHz and the output level to give
a 12dB sinad.

Set the line level control to give 0dBm.

Note: If there is no output from the line amplifier, this may be due to the RF
input filter (L104 to L107, CV108 & CV109) being too far off tune. The
remedy is to inject the signal directly to Q103 base using a coaxial lead
with a InF blocking capacitor in series with the centre conductor.

Adjust CV116 to CV119 for the best possible 12dB sinad sensitivity.

Progressively reduce the signal generator output level to maintain the 12dB
sinad output.

Remove the coaxial lead from the base of Q103.

Reconnect the signal generator to the aerial terminal.

Page 5.5






[image: image19.jpg]T335 Servicin

Adjust CV108 to CV109 for best 12dB sinad.
Readjust CV116 to CV119 for the best possible 12dB sinad sensitivity.
For a correctly operating set, the signal generator output level for 12dB sinad

sensitivity should be less than -115dBm, a typical value being -118dBm.

5.5.5 IF ALIGNMENT

Note: The IF sections have been correctly aligned during manufacture and should
not require readjustment unless repairs have been carried out, or there is
clear evidence of malfunction.

Ensure that Sections 5.5.1 to 5.5.4 (inclusive) have been completed. This
will ensure a correct intermediate frequency and also that the desired high
signal level to the IF can be achieved.

Set the RF signal generator to give an accurate 'on channel' signal
modulated to +3kHz [+1.5kHz] deviation at 1kHz and the output level to give
a 12dB sinad.

Set the gating sensitivity control fully clockwise (gate open).

Set the line level control to give 0dBm.

Adjust L124 for maximum audio at the line output terminals.

Adjust CV131 for best 12dB sinad.

Progressively reduce the signal generator output level to maintain a 12dB
sinad output.

Connect a DC voltmeter (1 volt range) between the signal strength output
terminal (D range connector pin 5) and earth.

Adjust L122, L123 & L131 for a maximum signal strength voltage. This
adjustment for L131 should closely coincide with the best 12dB sinad
adjustment. !

For a correctly operating set, the signal generator output level for 12dB sinad
sensitivity should be less than -115dBm. A typical value is -118dBm.

Note: After making adjustments to L131 it is necessary to check the carrier level
detector adjustment.

5.5.6 CARRIER LEVEL DETECTOR ADJUSTMENT

(a) Remove the T005-32 signal strength wire from pin 10 on the T335 RF PCB.

(b) Connect a DC voltmeter (10V range) to pin 5 of the D range connector
(signal strength output).
Set RV180 on the RF PCB fully clockwise.

(c) Set the signal generator to give an 'on channel' signal modulated to +3kHz
[+1.5kHz] deviation at 1kHz with the output level set to -110dBm.

Adjust L131 for maximum signal strength voltage on pin 5 of the D range
connector.

Page 5.6






[image: image20.jpg]T335 Servicin,

Set the signal generator output level to 12dB sinad -3dB (i.e. 12dB sinad at

Adjust RV180 for a signal strength voltage of 0.15V.

Repeat steps (d) & (e) to satisfy both requirements.
Check that the signal strength voltage is between 6 and 7 volts at -70dBm.

Reconnect the signal strength wire to pin 10 on the RF PCB.

To set the noise amplifier gain control level (RV6) on the noise gate PCB:

Apply an 'on channel' signal modulated to +3kHz [+1.5kHz] deviation at

Turn the front panel gate control fully anticlockwise to mute the set.

Adjust RV6 to give +3v DC at TP1 (Dl cathode) using a high impedance

Turn the gate control clockwise to unmute the set and increase the signal

The voltage at TP1 should decrease with an increase in the signal strength,
falling to less than 1 volt at -80dBm (typically 0.6v).

Set the signal generator to a level to produce the desired sinad ratio.

Adjust the gate control to just open the mute gate at that signal level.

(d)
-119dBm; set up at -122dBm).
(e) Set the signal generator output level to -90dBm.
Adjust L131 for a signal strength voltage of 5.0V.
(69)
(g)
(h)
5.5.7 NOISE GATE ADJUSTMENT
(a)
1kHz, at an output level to give a 12dB sinad.
electronic voltmeter.
(b)
generator output level to -80dBm.
(c) To set the gating sensitivity:
(d)

Check the hysteresis and if desired, change the value of R14 on the audio
processor PCB (nominally 560k).

Note: Increasing the resistance decreases the hysteresis and decreasing the

resistance increases the hysteresis.






[image: image21.jpg]T335 Servicing

5.6 FAULT FINDING

5.6.1 GENERAL

If a fault is apparent, first check for simple causes such as PCB shorts, incorrect
supply polarity and voltage, test set-up or faulty ancillary equipment.

When a component failure is suspected, in most cases locating it will require little
more than the usual systematic approach with the aid of this Manual.

A Block Diagram is included with all the relevant information plus a voltage table
giving the DC conditions around each transistor. These were measured with a 20k
ohms/volt moving coil meter, with the supply rail at 13.8V and an ‘on-channel'
signal of -107dBm at the aerial input with the gate 'open'.

5.6.2 VOLTAGE TABLE

Transistor Emitter Base Collector

Volts Volts Volts
RF & IF Section
Qlo1 8.2 8.8 12.2
Q102 12.8 12.2 8.9
Q103 0.0 0.7 8.7
Q104, Q105 0.33 0.55 9.8
Q106 2.6 3.2 6.0
Qlo7 6.7 6.0 2.6
Q108 2.6 3.2 6.0
Q109 6.7 6.0 0.0
Q110 152 ) B 33
Q111 4.8 oD 7.7
Q112 0.0 0.4 6.8
Q113 2.6 2:2 8.6
Audio Section

Q1 8.7 8.0 8.6
QlA 8.7 8.7 8.0

Q2 0.0 0.7 0.02
Q3 0.0 0.02 0.0
Q4 0.0 0.02 0.0

Q5 0.0 0.75 0.02

5.6.3 GATE OPERATION

Connect the RF signal generator modulated to +3kHz [+1.5kHz] with a 1kHz
tone to the receiver input.

Vary the signal generator output level over the range 12dB sinad to -90dBm,

checking the operation of the gate sensitivity control at various input levels
within that range.

Page 5.8






[image: image22.jpg]T335 Servicing

Check that the mute opens on signal levels between 6dB sinad (0.2pV) and at
least 20dB sinad (or up to 1uV in the absence of noise) with a peak deviation

of +3kHz.

Note: The gating level will vary slightly with the deviation level.

5.6.4

If the IF has not been aligned to give the best 'flat' pass-band, the mute gate
may close in the presence of very strong 'on channel' signals (about -10dBm)
which contain high deviation levels (up to +5kHz).
distortion products from the detector apearing in the noise filter.

This is caused by

Only sinad settings well above 20dB sinad should be affected in this way.
The solution is to use a lower sinad setting, which reduces the gate
sensitivity to distortion products. The gate will still be immune to strong
'off channel' signals, except where a strong signal appears on a spurious
response of the receiver. This may result in a signal which is clean enough

to open the mute gate.

For several gate sensitivities within the range 12dB sinad to -90dBm, check
the gate hysteresis: i.e. the difference in RF level between the point at
which the gate opens as the level is increased, and where the gate closes as
the level is decreased. Hysteresis should be between 1.5 and 7dB for all
gate settings. The hysteresis will vary with the setting of the gate

sensitivity control.

CARRIER LEVEL DETECTOR OPERATION

Connect the RF signal generator, modulated to +3kHz [+1.5kHz] with a 1kHz
tone on the receive frequency, to the receiver input.

Connect the DC voltmeter, set to the 10V range, to pin 5 of the D-range

connector.

Vary the input signal level over the range -70dBm to -120dBm, recording the

output voltage.

Check that the readings approximate to the following:

Input Signal Level

Signal Strength
Output Voltage

-70dBm
-90dBm
12dB sinad -3dB

6-7V
5.0V
0.15V

If adjustment is required follow the procedure outlined in Section 5.5.6.

Refer also to Figure 6.






[image: image23.jpg]T335 Servicin

SIGNAL STRENGTH TYPICAL SIGNAL STRENGTH OUTPUT (min/max shown)
VOLTAGE PIN
7
- Vv
6
S
. &

//

~130 —120 110 ~100 ~90 ~80 -7
SIGNAL STRENGTH dBm

Figure 6 Typical Signal Strength Output

5.6.5 LINE AMPLIFIER OUTPUT LEVEL

Set up the test equipment as in Diagram 1(a).
Apply an RF input signal at a level of -50dBm with modulation on.
Set the receiver line level control to give an indicated output of 0dBm.

While monitoring the waveform on the oscilloscope, increase the output to
ensure that at least +10dBm is available before clipping occurs.

Set the line level control to give an output of 0dBm.

5.6.6 MONITOR AMPLIFIER OUTPUT LEVEL

Set up the test equipment as in Diagram 1(b), including a 3.5 ohm speaker
(capable of handling 1 watt) connected between pins 8 and 15 of the D range
connector.

Connect the audio EVM in parallel with the speaker and apply the RF signal
generator at -60dBm modulated to +3kHz [+1.5kHz] with a 1kHz tone.

Check that at least 1.73 volts RMS is available into the speaker before
clipping occurs.

5.6.7 SIGNAL+NOISE TO NOISE RATIO

Set up the test equipment as in the line amplifier test Diagram 1(a).

Set the RF signal generator output modulated to +3kHz [+1.5kHz] with a
IkHz tone, at -50dBm. Adjust line level to 0dBm.

Switch the modulation off.

Check that the residual noise is less than -55dBm at the line output.

Note: It may be necessary to increase the meter sensitivity to get a satisfactory
reading.

Page 5.10






[image: image24.jpg]T335 Parts List

SECTION 6 PARTS LIST

INTRODUCTION

The 10 digit numbers (000-00000-00) in this Parts List are "internal part numbers"
(IPN's). Your spare parts orders can be handled more efficiently if you quote:
equipment type, circuit reference and IPN, along with a brief description of the
part.

The components listed in this Parts List are divided into two main types: those
with a circuit reference (e.g. C2, D6, R121, etc) and those without (miscellaneous
and mechanical).

Those with a circuit reference are grouped firstly by PCB, then by component
type in numerical order. FEach common component entry comprises three
columns: the circuit reference, IPN and description. Variant componants have an
additional column indicating the variant in which the component is used.






[image: image25.jpg]T335 Parts List

INDEX

T335 RF PCB:

Variant Parts
Common Parts

Audio Processor PCB
Noise Gate PCB

Miscellaneous & Mechanical:

Variant Parts
Common Parts

300 Series Guide Parts

Page 6.2






[image: image26.jpg]I T335 PARTS LIST RF BOARD
' VARIANT PARTS COMMON PARTS
REF __ VAR IPN DESCRIPTION REF IPN DESCRIPTION
cr 52 0152315001 CAPACITOR CERAMIC 0805 CHIP 150P 5% NPO 50V C146 0200910003 CAPACITOR ELECTRO RADIAL 100M 16V BX11MM
I c2 52 0152315001 CAPACITOR CERAMIC 0805 CHIP 150P 5% NPO 50V C147 0110447003 CAPACITOR CERAMIC 4N7 10% T/IC B 50V DISC
€148 011.0410001 CAPACITOR CERAMIC 1NO 10% T/C B 63V
o1 52 0011000099 DIODE SMD BAV9S DUAL SWITCH SOT-23 SINGLE (N LINE €148 011.04470.03 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC
€150 0110227001 CAPACITOR CERAMIC 27P 5% N150 50/83V
a1 52 000-1000848 TRANSISTOR SMD BCWG0/BCB48 NPN SOT-23 AF SMALL SI Ci51 0110239001 CAPACITOR CERAMIC 39P 5% N150 50/63v
Q2 52 0000001300 TRANSISTOR BOG7S NPN TO-126 DARLINGTON POWER C152  011-0447003 CAPACITOR CERAMIC 4N7 10% T/IC B S0V DISC
A1 52 0450610001 RESISTOR NTC 100K 20% SMM DISC €153 0110218001 CAPACITOR CERAMIC 18P 5% N150 5063V
"2 52 0361356000 AESISTOR MF 0805 CHIP S60E 5% CIS5 0110447008 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC
"3 52 0361515000 RESISTOR MF 0805 CHIP 15K 5% €156 0200810003 CAPACITOR ELECTRO RADIAL 10UF 50V 5X11MM
A4 52 0361512000 RESISTOR MF 0805 CHIP 12K 5% CIS7 0110315001 CAPACITOR CERAMIC 150P 5% N150 5053V
RS §2 0361210000 RESISTOR WF 0805 CHIP 10E 5% C158 0110256001 CAPACITOR CERAMIC 56P 5% N150 50/83V
SKTI 52 2400402023 SOCKET JACK 1MM PCB MTG PRECI DIP €160 0110447003 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC
SKI2 52 2400402023 SOCKET JACK 1MM PC8 MTG PRECI DIP C161  011.04470.03 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC
€162 0116310001 CAPACITOR CERAMIC 100P 5% N150 63V PHILIPS
R14S 02 030-0515000 RESISTOR FILM 15K 5% 0.25W 7X2.5MM C163 0116312001 CAPACITOR CERAMIC 120P 5% N150 63V PHILIPS
R4S 05 0300533000 RESISTOR FILM 33K 5% 0.25W 7X2.5MM C164 0116312001 CAPACITOR CERAMIC 120P 5% N150 63V PHILIPS
RI45 52 0300515000 RESISTOR FILM 15K 5% 0.25W 7X2.5MM CI165 0110447003 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC
C165A 0110447003 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC
C166 0110122001 CAPACITOR CERAMIC 2P2 +-0.25P NPO 5063V
XFIOI 02 2760001022 FILTER CRYSTAL 10.7MHZ 15KHZ BAW 8 POLE FM RIT C167 011.0247001 CAPACITOR CERAMIC 47P 5% N150 S0/63V
XFIOI 05 2760001032 FILTER CRYSTAL 10.7MHZ 7.5KHZ BAW 8 POLE FM RIT C168 0110268001 CAPACITOR CERAMIC 68P 5% N150 5063V
XFIOL 52 2760001022 FILTER CRYSTAL 10.7MHZ 15KHZ BW 8 POLE FM AT €169 0110122001 CAPACITOR CERAMIC 2P2 +/-0.25P NPO S0/63V
€170 011.04470.03 CAPACITOR CERAMIC 4N7 10% T/C B SOV DISC
CI71 0110447003 CAPACITOR CERAMIC 4N7 10% T/C B S0V DISC
COMMON PARTS C172 0110447003 CAPACITOR CERAMIC 4N7 10% T/C 8 SOV DISC
CI73 0110447003 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC
Ci74 0110310001 CAPACITOR CERAMIC 100P 5% N150 50/63V
REF IPN DESCRIPTION C176  025.06470.01 CAPACITOR TANT BEAD 470N 35V
CI77 0200710002 CAPACITOR ELECTRO RADIAL 1M 50V SX11MM
BKT1 0120415001 CAPACITOR CERAMIC FEEDTHRU 1NS LESS LEAD C178 0110447003 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC
BKT2 0120415001 CAPACITOR CERAMIC FEEDTHRU INS LESS LEAD C179 0200710002 CAPACITOR ELECTRO RADIAL 1M 50V SX11MM
BKT3 0120415001 CAPACITOR CERAMIC FEEDTHRU NS LESS LEAD C190 0110310001 CAPACITOR CERAMIC 100P 5% N150 503V
BKTS  012:0415001 CAPACITOR CERAMIC FEEDTHRU IN5 LESS LEAD C191  017-15470-01 CAPACITOR CERAMIC SURFACE BARRIER 47N 20% SOV
BKT6 0120415001 CAPACITOR CERAMIC FEEDTHRU INS LESS LEAD C192 0171547001 CAPACITOR CERAMIC SURFACE BARRIER 47N 20% S0V
BKT7 0120415001 CAPACITOR CERAMIC FEEDTHRU INS LESS LEAD €183 0110210001 CAPACITOR CERAMIC 10P +/05P NPO 5063V
BKT8 0120415001 CAPACITOR CERAMIC FEEDTHRU INS LESS LEAD D101 0010001170 DIODE 1N4001 1A%V
BKT9 0120415001 CAPACITOR CERAMIC FEEDTHRU INS LESS LEAD D102 0010001517 DIODE ZENER SV1 0.4W BZX79/C9V1
BKTI0 0120415001 CAPACITOR CERAMIC FEEDTHRU NS LESS LEAD D103 0010001200 DIODE 184148 SILICON SMALL SIGNAL GENERAL PURPOSE
BKT11 0120415001 CAPACITOR CERAMIC FEEDTHRU NS LESS LEAD DI04 0010001200 DIODE 1N4148 SILICON SMALL SIGNAL GENERAL PURPOSE
BKTIZ 0120415001 CAPACITOR CERAMIC FEEDTHRU 1NS LESS LEAD 0105 0010001268 DIODE PIN MAATE00/4PA37 LOW POWER
BKTI3 0120415001 CAPACITOR CERAMIC FEEDTHRU 1NS LESS LEAD DI0SA 0010001268 DIODE PIN MA47600/4P437 LOW POWER
BKT14 0120415001 CAPACITOR CERAMIC FEEDTHRU INS LESS LEAD D106 0010001200 DIODE 1M4148 SILICON SMALL SIGNAL GENERAL PURPOSE
BKTIS 0120415001 CAPACITOR CERAMIC FEEDTHRU INS LESS LEAD DI07 0010001200 DIODE 144148 SILICON SMALL SIGNAL GENERAL PURPOSE
D108 0010001200 DIODE 1N4148 SILICON SMALL SIGNAL GENERAL PURPOSE
C101 0110447003 CAPACITOR CERAMIC 4N7 10% T/C B 5OV DISC D110 0010001200 DIOOE 1N4148 SILICON SMALL SIGNAL GENERAL PURPOSE
C102 0200822001 CAPACITOR ELECTRO RADIAL 22M 16V 5X11MM D11 0010001200 DIODE 14148 SILICON SMALL SIGNAL GENERAL PURPOSE
C102A 020.09100.03 CAPACITOR ELECTRO RADIAL 100M 16V 8X11MM D112 0010001200 DIOOE 1NA148 SILICON SMALL SIGNAL GENERAL PURPOSE
C103  011.0447003 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC D113 0010001200 DIOOE 1N4148 SILICON SMALL SIGNAL GENERAL PURPOSE
l C104 0250733001 CAPACITOR TANT BEAD 3W3 35V
C105 0110447003 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC IC. 0020001440 INTEGRATED CCT 324 QUAD OP AMP ©
C106 0200847002 CAPACITOR ELECTRO RADIAL 47M 16V 6X11MM IC2 00200014-70 INTEGRATED CCT 3357P FM IF DET LOW POWER L
C107 011-0447003 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC
CVI08 028.02100-02 CAPACITOR TRIMMER 2/10P 3TAG 1LUG PTFE MATSUSHITA L101  056.00021.02 INDUCTOR FIXED 100UH AXIAL
CV109 0280210002 CAPACITOR TRIMMER 2/10P 3TAG 1LUG PTFE MATSUSHITA L102 0650001004 BEAD FERRTE F8 4X2XSMM
C110  011-0310001 CAPACITOR CERAMIC 100P 5% N150 S0/63v L103 0560002102 INDUCTOR FIXED 100UH AXIAL
CI11  011-04470-03 CAPACITOR CERAMIC 4N7 10% T/C 8 50V DISC L104  061-00003.57 COIL TAIT NO 357 T35
CI12 0110447003 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC L10S  05208135.25 COIL AW 25T/35MM HOR 0.8MM WIRE
C113 0110447003 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC L106 0520813525 COILIAW 2.5T/3.5MM HOR 0.0MM WIRE
C113A 0110447003 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC L107 0510000357 COIL TAIT NO 357 T33§
C114  011.02470.01 CAPACITOR CERAMIC 47P 5% N150 5063V L108 0560002100 INDUCTOR FIXED 3.3UH AXIAL
CV116 0280210002 CAPACITOR TRIMMER 2/10P STAG 1LUG PTFE MATSUSHITA L100  051-00003.57 CO TAT NO 357 T335
CVI17 - 0280210002 CAPACITOR TRIMMER 2/10P 3TAG 1LUG PTFE MATSUSHITA L110  051.0000395 COIL TAIT NO 395 HAIRPIN T355
CV118 0280210002 CAPACITOR TRIMMER 210P 3TAG 1LUG PTFE MATSUSHITA LI11 0610000357 COIL TAIT NO 357 T335
V119 0280210002 CAPACITOR TRIMMER 2/10P 3TAG 1LUG PTFE MATSUSHITA L112 0510000384 COIL TAIT NO 384 HAIRPIN T335
I C120 0110447003 CAPACITOR CERAMIC 4N7 10% T/C 8 50V DISC L113 0510000357 COR TAIT NO 357 T33§
C121 0290368001 CAPACITOR MICA 10MM CASE 680P 5% L114 0510000395 COIL TAIT NO 395 HAIRPIN T3s5
€122 0110239001 CAPACITOR CERAMIC 39° 5% N150 5083V LI1S  061-0000357 COIL TAIT NO 357 V335
C123  011-0347002 CAPACITOR CERAMIC 470P 10% T/C B 63V L116  056:00010-15 INDUCTOR FIXED TAIT NO 15 ST ON 38 BEAD
C124 0110147001 CAPACITOR CERAMIC 4P7 +-05P NPO SOS3V L117 0500001618 COIL TAT NO 618 VHF 10MM BASE GREEN LESS CAN
C125 0290310001 CAPACITOR MICA 10MM CASE 100P 5% Li18 0650001004 BEAD FERRITE F8 4X2XSMM
C126  011-01470-01 CAPACITOR CERAMIC 4P7 +/-0.5P NPO 50/63V L1189 056.00021-02 INDUCTOR FIXED 100UH AXIAL
C127 0290368001 CAPACITOR MICA 10MM CASE 680P 5% 1120 0500001627 COIL TAIT NO 627 10MM BASE LESS SLUG
C128  017-15470.01 CAPACITOR CERAMIC SURFACE BARRIER 47N 20% S0V L121 05600021-02 INDUCTOR FIXED 100UH AXIAL
C129  011-04470.03 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC L122 0500001602 COIL TAIT NO 602 10.7MHZ IF
€130 011-03470.02 CAPACITOR CERAMIC 470P 10% T/C B 63V L123 0500001620 COIL TAIT NO 620 10.7MHZ 10MM CAN
l CVI31 028.02300.03 CAPACITOR TRIMMER 530P N750 TOP ADJ GREEN MUR TZ L124 0500001601 COIL TAIT NO 601 455KHZ IF
€132 0110268001 CAPACITOR CERAMIC 68P 5% N150 SO/S3V L125 0500001617 COIL TAIT NO 617 4UH 7MM BASE SLEEVED LESS CAN
C133  022.06100.01 CAPACITOR MYLAR 100N 10% 50V 1126 056-00021-00 INDUCTOR FIXED 3.3UH AXIAL
CI33A 0220522001 CAPACITOR MYLAR 22N 10% SOV 1127 0560002100 INDUCTOR FIXED 3.3UH AXIAL
C134 0200810003 CAPACITOR ELECTRO RADIAL 10UF SOV 5X11MM L1268 050.00016-18 COIL TAT NO 618 VHF 10MM BASE GREEN LESS CAN
' C135  011-04470.03 CAPACITOR CERAMIC 4N7 10% T/C B S0V DISC L129  056.00021-00 INDUCTOR FIXED 3.3UH AXIAL
C136 0110447003 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC L130 0500001618 COIL TAIT NO 618 VHF 10MM BASE GREEN LESS CAN
C137 0110447003 CAPACITOR CERAMIC 4N7 10% T/C B SOV DISC L131 0500001602 COIL TAIT NO 602 10.7MHZ IF
C138 0110447003 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC L132 0650001004 BEAD FERRITE F8 4X2X5MM
€139 0110447003 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC
C140 0110447003 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC Q101 0000001110 TRANSISTOR BCS488 NPN TO-92 AF SMALL SIG
C141 0200810003 CAPACITOR ELECTRO RADIAL 10UF 50V SX11MM Q102 0000001170 TRANSISTOR BD136 PNP TO-126 AF POWER
C142 0110447003 CAPACITOR CERAMIC 47 10% T/C B SOV DISC Q103 0000003217 TRANSISTOR BFR96-S NPN T PACK UHF SMALL SIG (S
C143  011.04470.03 CAPACITOR CERAMIC 4N7 10% T/C 8 50V DISC Q104 0000003217 TRANSISTOR BFR96.S NPN T PACK UHF SMALL SIG (5
Cl44 0110256001 CAPACITOR CERAMIC 56P 5% N150 5063V Q105 0000003217 TRANSISTOR BFR96S NPN T PACK UHF SMALL SIG (5
C145  011.04470.03 CAPACITOR CERAMIC 4N7 10% T/C B 50V DISC QI06 0000002011 TRANSISTOR BF4S4 NPN TO-92 RF SMALL SIG ©
I C145A 017-1547001 CAPACITOR CERAMIC SURFACE BARRIER 47N 20% S0V Q107  00000020.35 TRANSISTOR BF324 PNP TO.92 RF SMALL SIG ©





[image: image27.jpg]T335 PARTS LIST RF BOARD

REF IPN DESCRIPTION

Q108 000-00020-11 TRANSISTOR BF494 NPN TO-92 AF SMALL SIG
Q110 000-00031-80 TRANSISTOR MPSH11 NPN TO-92 RF

Q11 000-00031-90 TRANSISTOR MPSH11 NPN TO-92 RF

Q112 00000032-30 TRANSISTOR 2SC1730 NPN TO-92 UHF

Q113 0000002011 TRANSISTOR BF434 NPN TO.92 RF SMALL SIG

28333

RIOT 0300347000 RESISTOR FILM 470E 5% 0.25W 7X2.5MM
RIOIA 030-03470-00 RESISTOR FiLM 470E 5% 0.25W 7X25MM
RI02 0300447000 RESISTOR FILM 4K7 5% 0.25W 7X2.5MM
RID3 0300310000 RESISTOR FILM 100E 5% 0.25W 7X2.5MM
RIO4 0300422000 RESISTOR FILM 2K2 5% 0.25W 7X25MM
RIOS 0300422000 RESISTOR FILM 2K2 5% 0.25W 7X2.5MM
RI06 0300410000 RESISTOR FILM 1K 5% 0.25W 7X2.5MM
RI07 0300310000 RESISTOR FILM 100E 5% 0.25W 7X2.5MM
RI08 0800439000 RESISTOR FILM 3K9 5% 0.25W 7X2.5MM
R109 0300310000 RESISTOR FILM 100E 5% 0.25W 7X2.5MM
RI10 0300422000 RESISTOR FILM 2K2 5% 0.25W 7X2.5MM
RI11 0300147000 RESISTOR FILM 4E7 5% 0.25W 7X2.5MM
R112 0300422000 RESISTOR FILM 2K2 5% 0.25W 7X2.5MM
RI13 0300322000 RESISTOR FILM 220E 5% 0.25W 7X2.5MM
RI14 0300422000 RESISTOR FILM 2K2 5% 0.25W 7X2.5MM

R11S 0300322000 RESISTOR FILM 220€ 5% 0.25W 7X2.5MM
R116  030.02470.01 RESISTOR 47E 5% 10°4 CF

Ri18 0300410000 RESISTOR FILM 1K 5% 0.25W 7X2.5MM
RIT9 0300710000 RESISTOR FILM 1M 5% 0.25W 7X2.5MM
RI20 0300610000 RESISTOR FILM 100K 5% 0.25W 7X2.5MM
RI21 0300410000 RESISTOR FILM 1K 5% 0.25W 7X2.5MM
RI22 0300547000 RESISTOR FILM 47K 5% 0.25W 7X2.5MM
R123 0300533000 RESISTOR FILM 33K 5% 0.25W 7X2.5MM
R124 0300422000 RESISTOR FILM 2K2 5% 0.25W 7X2.5MM
RI25 0300422000 RESISTOR FILM 2K2 5% 0.25W 7X2 SMM
RI26 0300247000 RESISTOR FILM 47E 5% 0.25W 7X2.5MM
R127 0300415000 RESISTOR FILM 1KS 5% 0.25W 7X2.5MM
RI28 0300422000 RESISTOR FILM 2K2 5% 0.25W 7X2.5MM
R129 0300610000 RESISTOR FILM 100K 5% 0.25W 7X2.5MM
RI130 0300610000 RESISTOR FILM 100K 5% 0.25W 7X2.5MM
RI31 0300415000 RESISTOR FILM 1K5 5% 0.25W 7X2.5MM
R122 0300415000 RESISTOR FILM 1KS 5% 025W 7X2.5MM
RI33 0300547000 RESISTOR FILM 47K 5% 0.25W 7X2.5MM
R134 0300533000 RESISTOR FILM 33K 5% 0.25W 7X2.5MM
RI35 0300422000 RESISTOR FILM 2K2 5% 0.25W 7X2.5MM
RI36 0300422000 RESISTOR FILM 2K2 5% 0.25W 7X2.SMM
RI37 0300247000 RESISTOR FILM 47E 5% 0.25W 7X2.5MM
RI38 0300368000 RESISTOR FILM B80E 5% 0.25W 7X2SMM
R139 0300422000 RESISTOR FILM 2K2 5% 0.25W 7X2.5MM
R140 0300327000 RESISTOR FILM 270€ 5% 0.25W 7X2.SMM
R141 0300422000 RESISTOR FILM 2K2 5% 0.25W 7X2.5MM
R142 0300522000 RESISTOR FILM 22K 5% 0.25W 7X2.5MM
R143 0300310000 RESISTOR FILM 100E 5% 0.25W 7X2.5MM
Ri44 0300547000 RESISTOR FILM 47K 5% 0.25W 7X2.5MM
RI46 0300410000 RESISTOR FILM 1K 5% 0.25W 7X2.5MM
R149 0300433000 RESISTOR FILM 3K3 5% 0.25W 7X2.5MM
RS0 0300412000 RESISTOR FILM 1K2 5% 0.25W 7X2.5MM
RIS1 0300333000 RESISTOR FILM 330E 5% 025W 7X2.5MM
RS2 0300422000 RESISTOR FILM 2K2 5% 025W 7X2.5MM
R1S3 0300410000 RESISTOR FILM 1K 5% 0.25W 7X2.5MM
R1S4  030-0310000 RESISTOR FILM 100€ 5% 0.25W 7X2.5MM
RIS5 0300339000 (30-STOR FILM 390E 5% 0.25W 7X2.5MM
RIS6 0300510000 RESISTOR FILM 10K 5% 0.25W 7X25MM
RIS7 0300410000 RESISTOR FILM 1K 5% 0.25W 7X2.5MM
RIS8 0300422000 RESISTOR FILM 2K2 5% 0.25W 7X2SMM
RISS  030-03680-00 RESISTOR FILM 680E 5% 0.25W 7X2.5MM
RI60 0300247000 RESISTOR FILM 47E 5% 0.25W 7X2.5MM
RI61 0300247000 RESISTOR FILM 47E 5% 0.25W 7X2.5MM
RI62 0300547000 RESISTOR FILM 47K 5% 0.25W 7X2.5MM
A1E3  030.0533000 RESISTOR FILM 33K 5% 0.25W 7X2.5MM
R164  030-0322000 RESISTOR FILM 220E 5% 0.25W 7X2.5MM
RIGS 0300422000 RESISTOR FILM 2K2 5% 0.25W 7X2.5MM
RI66 0300547000 RESISTOR FILM 47K 5% 0.25W 7X2.5MM
R167 0300510000 RESISTOR FILM 10K 5% 0.25W 7X2SMM
R168 0300510000 RESISTOR FILM 10K 5% 0.25W 7X2.5MM
R169 0300610000 RESISTOR FILM 100K 5% 0.25W 7X2.5MM
RI70 0300533000 RESISTOR FILM 33K 5% 0.25W 7X2.5MM
RI171 0300510000 RESISTOR FILM 10K 5% 0.25W 7X2.5MM
RI172 0300610000 RESISTOR FILM 100K 5% 0.25W 7X2.5MM
RI73 0300610000 RESISTOR FLM 100K 5% 0.25W 7X2.5MM
Ri74 0300610000 RESISTOR FILM 100K 5% 0.25W 7X2.5MM
RI7S 0300610000 RESISTOR FILM 100K 5% 0.25W 7X2.5MM
RI76 0300447000 RESISTOR FILM 4K7 5% 0.25W 7X2.5MM
R177 0300610000 RESISTOR FILM 100K 5% 0.25W 7X2.5MM
RI78  030-06330.00 RESISTOR FILM 330K 5% 0.25W 7X2.5MM
RI79 0300610000 RESISTOR FILM 100K 5% 0.25W 7X2.5MM
RVIB0 0420710008 RESISTOR PRESET 1M CERMET 9.5MM SO FLAT
R181 0300622000 RESISTOR FILM 220K 5% 0.25W 7X2.5MM
RI82 0300622000 RESISTOR FILM 220K 5% 0.25W 7X2.5MM
RIB3 0300510000 RESISTOR FILM 10K 5% 0.25W 7X2.5MM
RIB4 0300410000 RESISTOR FILM 1K 5% 0.25W 7X2.5MM
RIB5 0300410000 RESISTOR FILM 1K 5% 0.25W 7X2.5MM

X2 274-00010-10 CRYSTAL 10.245MHZ SPEC TE/M
XF102 2760001020 FILTER CRYSTAL 10.7MHZ 15KHZ BW 2 POLE 10 FISA

6.4






[image: image28.jpg]T335 PARTS LIST AUDIO PROCESSOR

REF IPN DESCRIPTION REF VAR IPN DESCRIPTION

c1 0115410001 CAPACITOR CERAMIC AUTOINSERT TN 10% T/C B 63V A28 030-5647020 RESISTOR FILM AUTOINSERT 470K 5% 0.4W 4X1.6MM
Ci1A 0220647001 CAPACITOR PETP 470N 10% 100V R28  030-56470-20 RESISTOR FILM AUTOINSERT 470K 5% 0.4W 4X1.6MM
0200810007 CAPACITOR ELECTRO RADIAL 10UF 50V SX11MM SMM US A30 0305539020 RESISTOR FILM AUTOINSERT 39K 5% 0.4W 4X1.6MM
A31
R32A

c2

C3 0115410001 CAPACITOR CERAMIC AUTOINSERT IN 10% T/C 8 63V 0305647020 RESISTOR FILM AUTOINSERT 470K 5% O.AW 4X1.6MM

C4 0115315001 CAPACITOR CERAMIC AUTOINSERT 150P 5% N1SO S0%63V = 030-53680-20 RESISTOR FILM AUTOINSERT G80E 5% 0.4W 4X1.6MM

C5  020.5810003 CAPACITOR ELECTRO AUTOINSERT RDL 10M 50V 5X11MM RI28 0305322020 RESISTOR FILM AUTOINSERT 220E 5% 0.4W 4X1.6MM

C6 0200910003 CAPACITOR ELECTRO RADIAL 100M 16V 8X11MM R33  030-5610020 RESISTOR FILM AUTOINSERT 100K 5% 0.4W 4X1.6MM

€7 022.55470-10 CAPACITOR MYLAR AUTOINSERT 47N 10% 63V POTTED R33A  030-54150.20 AESISTOR FILM AUTOINSERT 1KS 5% 0.4W 4X1.6MM

C8  02255470-10 CAPACITOR MYLAR AUTOINSERT 47N 10% 63V POTTED R336 0305415020 RESISTOR FiLM AUTOINSERT 1KS 5% 0.4W 4X1.6MM

C9 0225447001 CAPACITOR MYLAR AUTOINSERT 4N7 10% 50V R34 0305122020 RESISTOR FILM AUTOINSERT 2E2 §% 0.4W 4X1.6MM

C10  022:55470-10 CAPACITOR MYLAR AUTOINSERT 47N 10% 63V POTTED R3S 0300239020 RESISTOR FILM 39E 5% 0AW 4X1.6MM

Ci1 0205810003 CAPACITOR ELECTRO AUTOINSERT ROL 10M 50V S5X11MM A35A 0305133020 RESISTOR FILM AUTOINSERT 3E3 5% 0.4W 4X1.6MM

€12 02255100-10 CAPACITOR MYLAR AUTOINSERT 10N 10% 63V POTTED R36  030-54100-20 RESISTOR FILM AUTOINSERT 1K 5% 0.4W 4X1.6MM

€13 02255470-10 CAPACITOR MYLAR AUTOINSERT 47N 10% 63V POTTED R37 0305410020 RESISTOR FILM AUTOINSERT 1K 5% 0.4W 4X1.6MM

Ci4 025547010 CAPACITOR MYLAR AUTOINSERT 47N 10% 63V POTTED RV38 0400510012 POTENTIOMETER 10K LOG LESS SW 6MM SLOT SHAFT 16 00
C15 0220433005 CAPACITOR MYLAR 3N3 10% 50V SMM LEAD SPACING RV33  040-0510012 POTENTIOMETER 10K LOG LESS SW 6MM SLOT SHAFT 16 00
C16 0115447003 CAPACITOR CERAMIC AUTOINSERT 4N7 10% T/C 8 50V AV40 0400510006 POTENTIOMETER 10K LOG LESS SW 6MM SHAFT 16MM 0D
C17 0205710002 CAPACITOR ELECTRO AUTOINSERT ROL 1M 50V SX11MM R4l 030.54100.20 RESISTOR FILM AUTOINSERT 1K 5% 0.4W 4X1.6MM

Ci8 0115447003 CAPACITOR CERAMIC AUTOINSERT 4N7 10% T/C B 50V R42  030.04150-20 RESISTOR FILM 1K5 5% 0.AW 4X1.6MM

C19 0225510010 CAPACITOR MYLAR AUTOINSERT 10N 10% 63V POTTED

€20 0205710002 CAPACITOR ELECTRO AUTOINSERT RDL 1M SOV 5X11MM T 053.00010-17 TRANSFORMER T4030 LINE MATCH POT CORE

C21 0200910003 CAPACITOR ELECTRO RADIAL 100M 16V 8X11MM

€22 0200810003 CAPACITOR ELECTRO RADIAL 100M 16V BX11MM

C23  02256100-10 CAPACITOR MYLAR AUTOINSERT 100N 10% 63V POTTED

C24 0205810003 CAPACITOR ELECTRO AUTOINSERT RDL 10M 50V 5K11MM

€25  02256100-10 CAPACITOR MYLAR AUTOINSERT 100N 10% 63V POTTED

€26 0200922001 CAPACITOR ELECTRO RADIAL 220M 16V 10X12.5MM

C27 0205710002 CAPACITOR ELECTRO AUTOINSERT RDL 1M SOV SX11MM T335 PARTS LIST NOISE GATE BOARD
C28 0200922001 CAPACITOR ELECTRO RADIAL 220M 16V 10X12.5MM

C29  02256100-10 CAPACITOR MYLAR AUTOINSERT 100N 10% 63V POTTED

C30 0115447003 CAPACITOR CERAMIC AUTOINSERT 4N7 10% T/IC B 50V

REF IPN DESCRIPTION
o 001-00011-70 DIODE 1N4001 1A/SOV
OPVT.1 237.00010-22 RELAY 12V DPOT 14PIN DIL PCB MTG FUNTSU 244 PREF C1 0110312001 CAPACITOR CERAMIC 120P 5% N150 50/63v
DIA  001-5001205 DICOE AUTO INSERT 1N4531 SI SMALL SIG €2 0110447003 CAPACITOR CERAMIC 4N7 10% T/C 8 50V DISC
02 0010001170 DIODE 1NAOO1 1A/SOV €3 0110312001 CAPACITOR CERAMIC 120P 5% N1S0 S0/83V
03 001-00011-70 DIODE 1N4001 1A/S0V C5 0110447003 CAPACITOR CERAMIC 4N7 10% T/IC B 50V DISC
D4 0010001170 DIODE 1N4001 1A/SOV C7 0200810007 CAPACITOR ELECTRO RADIAL 10UF 50V SX11MM SMM US
DS 001-00011-70 DIOOE 1N400T JA/SOV €8 0200710052 CAPACITOR ELECTRO RADIAL 1M 50V 5X11MM SMM LS
D6 0080001011 LED 3MM RED HLMP1385 LESS MOUNTING €9 0220510010 CAPACITOR MYLAR 10N 10% 63V POTTED SMM LEAD SPACE
D7 008.00010-15 LED 3MM GREEN HLMP1585 LESS MOUNTING C10 0110410001 CAPACITOR CERAMIC 1NO 10% T/C B 63V

0020001440 INTEGRATED CCT 324P QUAD OP AMP © D1 001-0001205 DIOOE TNAS31 SI SMALL SIGNAL SHORT BOOY

ic1
1C2  002:00014-10 INTEGRATED CCT LM377 DUAL AF POWER AMP
Q1 000-00011-10 TRANSISTOR BCS488 NPN TO-92 AF SMALL SIG

1 0300000000 RESISTOR FILM ZERO ONM 5% 7X2.5MM Q2 0000001110 TRANSISTOR BCS488 NPN TO-82 AF SMALL SIG
P2 0300000000 RESISTOR FILM ZERO ONM 5% 7X2.5MM 03 000:00011-10 TRANSISTOR BCS488 NPN TO.92 AF SMALL SIG
JP3 0300000000 RESISTOR FILM ZERO OHM 5% 7X2.5MM
JPS 0300000000 RESISTOR FILM ZERO OHM 5% 7X2.5MM R1  03005100-20 RESISTOR FILM 10K 5% 0.4W 4X1.6MM
JP6 0300000000 RESISTOR FILM ZERO OHM 5% 7X2.SMM R2 0300547020 RESISTOR FILM 47K 5% 0.4W 4X1.6MM
JPT 0300000000 RESISTOR FILM ZERO OHM 5% 7X2.SMM A3 0300547020 RESISTOR FILM 47K 5% 0AW 4X1.6MM
P8 030.00000.00 RESISTOR FILM ZERO OHM 5% 7X2.SMM R4 030.05220-20 RESISTOR FILM 22K 5% 0.4W 4X1.6MM
P10 0300000000 RESISTOR FILM ZERO OHM 5% 7X2.SMM R5 0300439020 RESISTOR FILM 3KS 5% 0.4W 4X1.6MM
P11 0300000000 RESISTOR FILM ZERO OHM 5% 7X2.5MM R7 0300710020 RESISTOR FILM 1MO 5% 0.4W 4X1.6MM
P12 030.0000000 RESISTOR FILM ZERO OHM 5% 7X2.5MM RB 0300447020 RESISTOR FILM 4K7 5% 0.AW 4X1.6MM
R  030.05470-20 RESISTOR FILM 47K 5% 0.4W 4X1.6MM
L1 0560002202 INDUCTOR FIXED 68MH SHIELDED 11*14MM VERTICAL AI0 0300610020 RESISTOR FILM 100K 5% 0AW 4X1.6MM
ATl 030.06100-20 RESISTOR FILM 100K 5% 0.4W 4X1.6MM
Q1 0005001130 TRANSISTOR AUTO INSERT BCSS7B PNP TO-S2 AF S/SIG RiZ 0300610020 AESISTOR FILM 100K 5% 0.4W 4X1.6MM
QIA 0005001130 TRANSISTOR AUTO INSERT BCSS78 PNP TO.92 AF S/SIG
Q2 0005001110 TRANSISTOR AUTO INSERT BCSA7B NPN TO-S2 AF SISIG RVS 0420047008 RESISTOR PRESET S00E CEAMET 9.5MM SQ FLAT
Q3 0000001066 TRANSISTOR BC337 NPN TO-92 AF POWER
04 0000001066 TRANSISTOR BC337 NPN TO-92 AF POWER
Q5 0000001066 TRANSISTOR BC337 NPN TO-92 AF POWER
LU 030-04100-20 RESISTOR FILM 1KO 5% 0.4W 4X1.6MM
R2 0305410020 RESISTOR FILM AUTOINSERT 1K 5% 0.AW 4X1.6MM
R2A  030-5410020 RESISTOR FILM AUTOINSERT 1K 5% 0.AW 4X1.6MM
030:54680-20 RESISTOR FILM AUTOINSERT 6K8 5% 0.4W 4X1.6MM
A3A  030.5468020 RESISTOR FILM AUTOINSERT 6KB 5% 04W 4X1.6MM
R4 0305510020 RESISTOR FILM AUTOINSERT 10K 5% 0.4W 4X1.6MM
RS 0305482020 RESISTOR FILM AUTOINSERT BK2 S% 0.4W 4X1.6MM
A6 030.54680-20 RESISTOR FILM AUTOINSERT 6KB 5% 0.4W 4X1.6MM
R7 0305333020 RESISTOR FILM AUTOINSERT 330E 5% 0AW 4X1.6MM
R8 0305647020 RESISTOR FILM AUTOINSERT 470K 5% 0A4W 4X1.6MM
R9 030-56180-20 RESISTOR FILM AUTOINSERT 180K 5% 0.4W 4X1 6MM
RI0 0305468020 RESISTOR FILM AUTOINSERT 6KB 5% 0.4W 4X1.6MM
R11 030-5618020 RESISTOR FILM AUTOINSERT 180K 5% 0.4W 4X1.6MM
R12 0305618020 RESISTOR FILM AUTOINSERT 180K 5% 0.4W 4X1 6MM
R13 030-5510020 RESISTOR FILM AUTOINSERT 10K 5% 0.4W 4X1.6MM
A4 0300656020 RESISTOR FILM 560K 5% 0.4W 4X1.6MM
RI4A  030.0656020 RESISTOR FILM 560K 5% OAW 4X1.6MM
R15 0305510020 RESISTOR FILM AUTOINSEAT 10K 5% 0.4W 4X1.6MM
R16 030-54560-20 RESISTOR FILM AUTOINSERT SK6 5% 0.4W 4X1.6MM
RIGA 0300410020 RESISTOR FILM 1KO 5% 0.4W 4X1.6MM
R17 030-54390-20 RESISTOR FILM AUTOINSERT 3K9 5% 0.4wW 4X1.6MM
R18 0305512020 RESISTOR FILM AUTOINSERT 12K 5% 0.4W 4X1.6MM
RIS 0305512020 RESISTOR FILM AUTOINSERT 12K 5% 0.4W 4X16MM
R20 0305410020 RESISTOR FILM AUTOINSERT 1K 5% 0.4W 4X1.6MM
R2I 0300382020 RESISTOR FILM B20E 5% 0.4W 4X1.6MM
R22 030.54220-20 RESISTOR FiLM AUTOINSERT 2K2 5% 0.4W 4X16MM
R23 0305410020 RESISTOR FILM AUTOINSERT 1K 5% 0.4W 4X1.6MM
R24 030.55470-20 RESISTOR FILM AUTOINSERT 47K 5% 0.4W 4X1,6MM
R2s 0305410020 RESISTOR FILM AUTOINSERT 1K 5% 04W £X1 6MM
R26 030-55470-20 RESISTOR FILM AUTOINSERT 47K S% 0.4W 4X1 6MM
R27 0305447020 RESISTOR FILM AUTOINSERT 4K7 5% 0.4W 4X1 6MM
6.5






[image: image29.jpg]T335 PARTS LIST MECHANICAL PARTS

VARIANT PARTS

COMMON PARTS

IPN VAR DESCRIPTION IPN DESCRIPTION
2090001018 52  WIRERESISTANCE.0.508MM CONSTANTAN 3110101500  KNOB SATO K34 AG 15MM & SKIRT 6MM SHAFT FXD EQUIP
FRANT PNL VOLUME
2250117800 PRINTED CIRCUIT BOARD T010-30
316-06253-00 PANEL FRONT COMPLETE A3M1224 A4A136 T355
225-01203-00 PRINTED CIRCUIT BOARD T010-40 TEMPERATURE TRIMMER
3168501500 PIN A4MT7S LOCATING D RANGE
3020516100 BRACKET A4M1464, MOUNTING T007-60 D RANGE PLUGS
FOR PACKING
3192004500  SLEEVE A2MS70 60MM STD FXD EQUIP
3031115190 CHASSIS A4M1454 OVEN,TOO7-60 SUDES OVER CHASSIS UNIT
308.43049-00 HEATSINK A4M1459 XTAL/TRANSISTOR T007-60 3450004008  SCAEW M3*6MM CSK POZI ST BZ
SLEEVE MTG
309-01035-00 INSULATION A4M1458 THERMAL, SPACER BLOCK,T007-60
345-00040-10 SCREW M3*6MM PAN POZI ST BZ
3090103600 S2 INSULATION A4M1457 THERMAL SPACER BLOCK,T007-60 SIDE PLATES TO CHASSIS REAR
3120100900 52 LID A4M1455 XTAL OVEN T007-60 345-00040-10 SCREW M3"6MM PAN POZ!I ST BZ
SIDE PLATES TO CHASSIS REAR
3450004022 52  SCREW MIXAOMM PAN SLOT ST BZ
3450004020  SCREW M3"8MM BUTTON SKT HD BLACK ZINC PHOS
3490002003 52  SCREW.TAPTITE4-40X1/4IN PAN.POZI,BZ FANT PNL TO CHASSIS
BRKT MTG X2, OVEN MTG X1 - FOR PACK ING.
349 00020-02 SCREW TAPTITE 4-40X1/4IN CSK POZI BZ
3520001008 52 NUT M3,00LD FORM HEX ST .82 SIDE PLATES TO CHASSIS FRONT
3530001010 52  WASHER M3,FLAT,ST BZ.6.75MM OO AIMI2IS 3490002003  SCREW TAPTITE 440KIMIN PAN POZI BZ
3530001013 52 'WASHER M3 SHAKEPROOF INT BZ 349-00020-03 SCREW TAPTITE 4-40X1/4IN PAN POZI BZ
PCB TO SIDE PLATES
3620001020 52 MICAINSULATOR,10*14MMLESS HOLE
3490002003  SCREW TAPTITE 4-40X1/AIN PAN POZI BZ
36500011-54 52 LABEL WHITE OUIKSTIK AW 15562
3520001029 NUT M4 NYLOC HEX
3650010003 52 LABEL BLANK 10,8X30MM S/A METALISED POLYESTER FOR HANDLE
3650010020 52  LABELWHITE S/A28X11MMOUIKSTIK RW718/4 3530001012 WASHER M3 SPRING BZ
LOCATING PINS
3690002024 52  CORD,BARRIER,7.9MM OD,PARA
3540001033 FASTENER M3 PEM CLAMG-1
3690002033 52  TAPEVINYL FOAM,1 SIDE S/A,12°3MM.TESASPONGE
3560001026 PIN TRACK HARWIN T1559.01 FOR 1.6MM PCB
COMMON PARTS 3600001040  BUSH SNAP BLACK HEYCO §8-375-4
FIT TO FANT PNL *FOR GATE SENSITIVITY & LINE LEVEL CONT
1PN DESCRIPTION 3620001030  GROMMET 3MM LED MTG
365-00011-03 LABEL TEST REPORT INSIDE A4A267
0620001006  CAN 13726MM NEOSID
FOR TRIM CAPS 2/10P 365-00011-54 LABEL WHITE QUIKSTIK RW155672
LABEL CARTON
0620001011 CAN 14MM SOr19tM SANWA
For 618 coils 365-00100-20 LABEL WHITE S/A 28X11MM QUIKSTIK RW718/4
VISUAL INSPECTION LABEL
0650001013 BEAD FERRITE 70 1.9°0.9°3.8MM STACK POLE 3650010020  LABEL WHITE S/A 28X11MM QUIKSTIK RW718/4
D RANGE PLUG ]
365-00100-20 LABEL WHITE S/A 28X11MM QUIKSTIK RW718/4
2000001005 WIRE TINNED COPPER 0.5MM
36300010-14  TIE CABLE NYLON 100°2.6MM
206-00010-11 CABLE COAXIAL 50 OHM RG316-U PTFE LOOMING TIE
2200105500  PRINTED CIRCUIT BOARD T355 CCT A1C277 4000002005  SLEEVING 1.5MM SILICONE RUBBER
USED ON LEDS 25mm ON EACH PIN
225-01189.00 PRINTED CIRCUIT BOARD T011-20 RX AF PROCESSOR
410-00010 42 PACKAGING CARTON 60MM FXD EQUIP MOOULE UEB 15096
2250119100  PRINTED CIRCUIT BOARD T005-32 CAD REWORK
MAIN BOARD
2300001003 SWITCH TOGGLE SPST MINIATURE PANEL MOUNT
CHASSIS FRNT PNL
2400001055  PLUG 15 WAY D RANGE WIRE WRAP PINS PNL MTG
CHASSIS REAR
2400210005  SOCKET COAXIAL N TYPE PANEL JACK CAPTIVE/CLAMPED
3024502500  BUSH A4M2143 N JACK COAX RETAINING
FITTED TO COAX LEAD &SKT *N° TYPE
303-11140-00 CHASSIS A2M1196 SIDE PLATE FXD EQUIP
To chassis front
306-01010-00 FERRULE A4MS48 HANDLE FXD EQUIP
308-01007-00 HANDLE A4MS49 FXD EQUIP
3081308800  HEATSINK.CLIP ON,14 OR 16 DIP INT CCTS

CLIPS ON TO 1C2

6.6






[image: image30.jpg]300 SERIES GUIDE PARTS

IPN DESCRIPTION
240.02010-54  SOCKET 1SWAY D RANGE PANEL MTG DAFISS
3070201200  GUIDE A2MI50 STANDARD 60MM FXD EQUIP
316.85068.00  PLATE A2M910 SOCKET BOX FRONT T276
3168507100  PLATE A2M911 SOCKET BOX FLOAT T276
3450004000  SCREW MI'GMM CSK POZI ST BZ
In bag
34500040-11  SCREW M3X1OMM PAN POZI ST 8Z
in bag
v
3490002002  SCREW TAPTITE 440X1/4IN CSK POZI BZ
socket boxes
353.00010-11  WASHER M3 FLAT ST BZ 9.5MM 0D A4M1216
in bag
3650001154 LABEL WHITE QUIKSTIK RW155622
399.0001051  BAG PLASTIC 75*100MM

required for packaging






[image: image31.jpg]T335
RE SIGNAL GENERATR
fou S OSCILOSCOPE
\| D-RANGE CoNNECTOR Bla 5:5'3 : :
'~ AK? RESISTORS F‘ SINADDER :
(? T;B(i er D ﬂ ; "1_‘/] W — LIE - AMP
il = L =5 ) H]
135 T R e CHECR
Ll Tt (a)
o | L D.C a
g RN [ —-1
LT OSCILLOSCOPE AUDLIO
bt : / (‘——*] VT UM 5
2N HED MONITOR - AMP
30 oPkR’ ‘ (T~ ) CHECK
. (b)

Diagram 1

T335 Test Equipment Set-Up






[image: image32.jpg]® 505-91189-98 C

T011-20 AUDIO PROCESSOR PCB LAYOUT - TOP SIDE






[image: image33.jpg]IEERNEDT Y ¥3ewnN | = — - — > —— e = =
rozk w ONIMYEQ mmm Al e == o == PW.. o B =23
inssi WyEavIQ XUOJ@ GEE 1L e i o — —I0 e 0 1%
PURIBSZ MON YINYDISIIYD
Pi1 SOINOH123173 LIVl .—hg Iiva JOHO NN Q SINIWANINY N¥O SLNINONINY
LITT T [ne] o/m|
[ | noioaroud 310Ny auimi @ &
=T
INO O3S
w 0HINOT
430/N0_ 30w RETE ]
HOLINOW 1A SN
H3I31dNY Sﬁl T
Ndine ¥axvadsanot (O— s \W\
7 ~ HHOMLIN SISYHJW3-30
#3004 paa N
057 | I0HINOD SSvd MO) ¥3n
HINHOISNVEL 3NN T30 AW T3AFT 3NN E*N SISYHINI IO SSVd ONVE
H3L3dY 3N
g | ~~ NOWLD 35
1NdLN0 3NN -— 5| (= e 1 s o e e lqliv d1-34 WOdd IV
= 1 1
1ndin0 | !
HONO¥HI ¥Tvi L =it
ey #uodsa yey) Joj Londg ozgrmwwzw_m& o
AV 380 AVI3Y [Ind1N0 ™ Woud IS TWNOIS
_Allwlm, H01937109-N 30 ¥344ng SVTRNG e
! -5004
1nd1no Av13a vl’LCa_ b WOH T0HINOD 31N
i | 04INOD
L= ALAILISN3S
ENZ]
INdINO A34 %1
NOILJ3S 3V
)
Py TE-SO0L
uWa paesi] §
WIVONILLY
MUY H3EUI3N GSEL €=U
SSVd-M0T IHW (0r  H3IHdNY 05/ 8P0 INIOd
43348 HOLINOW "350*——] 8P SEEL Z=uw
e HOLY11950
H3LUNIS ISVHI
1430014 SSYd-GNVE NN VISAND
BP9+ ¥34dne T
=2 - Ho®
1Ndin0 = l— (—
HLIN3YIS TYNIS S 3
NOLLI3S dv ¥3L74 e Tu ]
OL WNOIS " 3LOW VISAND WISAND ¥4 ¥
||||||||||||| | WV ZHWL-OL PUZ  H3INCWY  ZHW (DL 51 SSVJ-ONVE WY SSvd ONVE
\ HILINT 1dRY 201 ) | I EIREY o EL)
NOILTHS ! Po == 2 = SR Le—f®) 05 indNI WVIHIY
ol SBrvO— TAJ ! A_‘n = IA.AT&I F R/ = =
I pEzH
i | e Coreghic aPi- 8P9y s 9 a0z -
| H3xIW
! 30NV IVE
[l ey ol e SO [,
i
=
I EE N THHSYZ0LT)
NOILI3S dI-3Y

llllllllll.llllllilllllll | e B B O EE B e B






[image: image34.jpg]DNIMYNO 440 31¥9S 10N 00

D28 we9dzv

0171 SOINOY¥1D313 LIVl

NamWNN
ONIMYNT

74

GGel e 25gpoy ey

GEGL—INYINIT INIYIM B

041 SIINO¥LDINE 1V
0 ANIENOD NILLWM M1 1nO

GWHL ANY 0L NO 03SSY4 SINIANOD ui

SANIWONINY ¥ON 031403 38 O1 LON SI LNIWN30O SINL | TVILNIQIINOD
1 LU | SLimn w30
i
~ A s
IR TNDA TR,
o= mm an
(Fn o)
r O @R 9T
4E Pod 52-1104 0} »
P27 POESZTII0L " W0t M PIOA 3hyg
LE Yeq 521101 O} (Paimbai PPOPOOOQ
50 Jay Lule 26uvy va Pauue] @9 0 © © ®@ POAGARG
290818 4aAraday B of ¥ 0DOO0OOOe0H6 “
PP ﬁa.%‘ﬂ&ﬁ.m.fnn 2L s s .nm...m. et
T Tomg bl o
pood yim srme Fron g Fou g, = i SpoRg ausy ——
pefblla s oo AT, 6 WABRA o
y gy oo vues o) smg e .
s 0N o «43}.»/ ol 3
—— = =
.Euﬁ ]
TP T 45 — HUM
974 2€-S00L S o)
oc ] Bu e
iaac) A
Lo ] - 2 e
22 Jad] .l i e—
o i = R ‘ F R
Lo ]
. [l
} eery
[eX*] 30,
' ¥2 05 IS € " \0
= <3
N < Mu
%20
77 O
o 47 O T OF
340 /w0 22015
aunpy 2ounay ﬁUaﬂﬁm’ it o 52 Ot
i) o | "
o#u ”* 120
Eﬁm ﬂ . . °
o s ] g
zouNaN m“»’Km N % t
T2y ¥ e
W 8 LaZt] "
=4
< ] o Q T Qo I
/¥ T —Ops
(bg A2) o) o
[ oh! B | £ ] i W
5] 0& SO sy nmmw
) Lo
e At 4o A
(pEAY) Las L0 3O or
UGN ONLYD ﬁ H ”w. e[_ o 'S ™
7 Z gy
o0 §o
iR ok 09 O«
g 057084 0KNY  G2-110L NN 446/ 540 L
T o~ -

I E N E BE BE B BE B BN OB B B OB T .





[image: image35.jpg]o =
@
@)
®
®
@)
®

&)

ONIMYHO AIBW3SSY £
]
“
oo}
2
|
©) w04 52-1101 40 30 40 3ooniva ows 2
2 &
(3]
oo
T =
] oLsawea 3owms 0 28w ot (3)- K (5 stas 100 1 30 do o s O
o o
L2 o !
&= n
’ =}
S
a
ﬂ i
[ %]
b | &
2.2 005 )
whgrsad —
ez no¥ s
& s PA 71 i &=
| Ny 028 a0zt
| o528 1 i
| (i} )
“w o
W G s
wsae i
20 ﬂ% I
w008 sesen
934 521501 M0 131 € N4 01 (L
@ %
owe
h H wor st
&
ony
0%
nos == o OWT ¥
3._% [ o 58
() 93 1708 &+






[image: image36.jpg]T335

CE™)

pieoqaseq UaAQ [BISAID JO SPISISPOS

€

o
NMOd8 31IHM

(00-€0T}-STL)

(00-8LI10-STT) v*ro T%ys6aD 0g-010L

664G

bt
qUq Vg

0}
ER:

Qg 0g-010)
A Sundlerin
_

_

3 opog) |
| |
9 _

949 _
< O
mg _ |
O—gr |
P0k29 249 2222 SAUd OLN B o i

Diagram 7 TO010-30 Crystal Oven Circuit Diagram






[image: image37.jpg][ +13, 8 +9v
+13.8V ®_J’
(TR +av
P18
R
R2 4]y
1xe
11
v
® ) | 4l
u
l c1 | ige
T005-32 ———1 11 V-
+ pLL
80557
01
RECEIVER
DISABLE @—
$:SEE TABLE BELOW
aPL
8] #:FIT THESE FOR DISABLE RELEASE DELAY
|
o) +9v R18 10
2 ¥
1
ct 8 JPE
v 324
JPg R17 El g
iR1 -
8R  3K3
. 10
R1S JR16
T005-32 @ 10K $5K6 e
| Ri3
AUDIO o 12%
¢ |
w® i c4 RLL 2R
N S S
150P RB 188K R13 18K |
® 478K —
----------- sl o7l
; +9v wr T oNT
H hed
i iRe3 v
' LR14A
RV3E | o
10K |
GATE 2
SENSE | 1
| CARRIER (G Jri2
i LEVEL : (1 l
. [
""""" :)————* ReZNF H
1He _Tucz
e &: SEE TABLE BELOW
42
—
. i
- - - SED_ON DESCRIPTION
USED ON DESCRIPTION 2 €13 [cas | c15 | L1 [rat [R22 Pﬂiﬂm f : o
05 I g N |4 | a3 | pea | e2e K2 ~ 355.335 | 1pp5-32 NOT ]
RELAY WIRED AS 1 SET CHANGE OVER & 1 CONTACT MAKE TO GROUND (6BMH) r T34
NO SPEAKER OUTPUT AVAILABLE  BUT HAS OUTPUT FOR MONITOR 345.969 | Tess-32 NOT F
MUTE DISABLE SWITCH TO AFFECT LINE OUTPUT 1375 Te95-32 NOT F]
To11-22 | 1335/82: 85 | DE-ERPHASIS N 202 | 828 |2k2 55,335 5
T355/@2. @5 |RELAY VIRED AS 2 PAIRS OF CLOSING CONTACTS. b | w3 | 2o 7355.335 | T085-32 FITTE
1345-82; 12 | SPEAKER OUTPUT AVAILABLE.
22. 15; 25, 35 | HUTE DISABLE SWITCH T0 AFFECT  SPEAKER OUTPUT ONLY I
SKHZ BANDVIOTH. | NF.| 188 NF. | 605 18 | 2K2 s
T335/84 | DE-ENPHASIS. N | 4IN | w3 | 202 | 828 2K7| ——
RELAY VIRED AS 1 SET CHANGE OVER & 1 CONTACT MAKE TO GROUND (BERE) €18 [WIN.DELAY [MAX. DELAY
SPEAKER OUTPUT AVATLABLE ——
MUTE DISABLE SWITCH TO AFFECT SPEAKER OUTPUT ONLY 22UF 3HS sens
TALK-THRU OUTPUT PROVIDED 108UF 1545 20015
Ta35/e4 NO TALK-THRU. N | 4a7n | w3 202 | 820 [2K2 —t
CE8MH) 470UF 76MS 1e00KS
TITLE
T C/N_83/05 262 HH
8 C/N 89/85 263, C/N 89/06 298 [T) 7/95/89
A S -
o =  RECEIVE
ISSUE: AMENDMENTS: DRAWN: CHKD: APVD DATE
A B [ L D I E F [ G I H [






[image: image38.jpg]1 J [ K I L M I N I 0 P
LINE LEVEL MONITOR LEVEL  TO SLIDER ON RV38
€D RV33 RV4D ON T345/81 s
TIL289 1KCLOG) 18K(LOG) sw1 111928
0
06 Te85-32 HUTE o7
DISABLE
O—@ @-O-O-0-O-O—O"-O-0—0-
. J7 +13, 8V
RASNF v
$—AN—t
|
JPS
e’
+13, 8V
D1 GATE OUTPUTS
+3v R26 1N4881 r33ad 4
47K :-5% 1K§ IN4BOL
Ri0 ¥
8K8 —
e R25
ke
02
ci8
BCS47 L
0 o3
RAGNF =1Ne
= @ SPEAKER
| pa M-NE T
& NOT FITTED | Lo
| a8
) : SEE TABLE BELOW | | L o
[ [ ike
C11  er2t ol |
+xs‘1‘t > R24 RELAY OUTPUTS
R20 c12 +C13 1 |ec1sder22 47K
1k8 10N =
*C14
]‘ T T e
e
03 | JP7 R29
8C337 oR 470K
(=1
w7 c17 *,,,<__§$&_,@ LINE
! -~ 1Ke ;
e o
23
ks i ®
2200 v
403 30,
R35 i Y LINE OUTPUTS
L 23k7
L 3lle :
c29 5 J
108N
Rrasa
3R3
c2 JPL | Ri R14]| R14A] RIGA| R42 | R43
vep | w08 [errreo [ 2¢2 |2k [ne [N [LINK|NF
TED | 3U@ IN.F 2k2 | 12k [NF. [ NF. |LINK| N.F
TED | U8 [N.F. 2 [12¢ [wr [ nF [ 39 | 18
108 [F1rien | 1xe |seex|ssex |ike |1ks [N.F
e 5 rs |
DE-EMPHASIZED RESPONSE [ N. F. FITTED | OPEN |
FLAT AUDIO RESPONSE | FITTED | N.F
= ot =
= l l ﬁ>< TAIT ELECTRONICS NEW ZEALAND
C DRAWING NO: Csb1 SHEET ¢ ISSUE
2 ALDTO  PROCESSOR IPN: 225-01189-00 OF 1 c
e FILE NAME: T9112L8C FILE DATE: 15/86/98
S J I e o] L [ M N [ 0 P






[image: image39.jpg]| o | b
Fm [ o L weor 1 voe  |aoe
it E«ﬂ??’ a7 o BO
4 u»
wn | L
A Coe
Mpy I
ndide ybod
Waids
oy [cos S0t 104
Ezzfp 4o I’r" baxde igm?
fo 9 Recalime
Oy I ? ® T
[ulirg
z@ Ter

7 Lty CHB L4 et
W) 20 () 20 (397) ek () 20
=1 1T 1 =
11 | |
fil e
42 Lid. R4
O ORTS
qeA
weur HUER o Aolree BAND PAGS RlTER
=
12
T
- _——
e oy ot
B &l
PV%: |
0x
bx |
(o0 fied) I
I U uc,
()
| — Tor
| ¢ & :
| e A émﬁ
| g 2
iy
DS Qpiar |, Tewa A
o g,“"’i% @e [ 147 N
S M e S 3
g
167 osellaoe x2
OB Yo hon o o Plad
* con_ ‘:";.A. Yim fled
# [[vood DescePron: wriol | Riav
T%/o2 | B IE Bandadih 1L X
o 15k
20 . (hoea] Spocing oo
" 154
% /0w Z‘i IF. Bandwidh jetoe e

T T Dog Tain 81535 205 [
CONFIDENTIAL © THiS DOCUMENT 1S NOI TO BE A | Chahe £
CoPIEo NOR THE CONTENTS rassio ow || ol Q0T o

TO ANY TMIRD PARTY WITHOUT THE

CONSENT OF TAIT ELECTRONICS LTO






[image: image40.jpg]e

8030 haden
()

-
the Py
4T dn7

Ao IF Malres

1273

ar

biog
nduag

200 2o IF RlN2

2o 15 WiFER

L >. 90 Beglo o
(3.3

L124 (G01)

g A1, I

el

152

@ lvz lvs 40"

TL2- ML3357

& ;
A |
\
GJ| '
200
R
e }«:‘3 Bt
23
RIBH
220¢
cxepea [wxl peOYR NOISE_RECHIER CONPARATOR '
# Sex chat )
)
]
i
\
$Delek (175 when TA-0B3/ i
oise  qote fifled
1PN =T

AMENDMENTS

r-m né- E

mcteetg CIRCUT DIAGRAM : T255

BASE STATION RECEIUER (RF Scovon)

n TAIT _ELECTRONICS _ LTD

AC909

ORAWING
NUMBER







